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There are 14 people in a family and the average age of all the family members is 30 years. A new
baby bornin a famil After 4 years what will be the averaa% ae of the all family members?
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1)30 years
2)35 years
3)28 years
4)32 years







If the length of the sides of a triangle are in the ratio 4 : 5 : 6 and the inradius of the triangle is 3
cm, then the altitude of the trjaa;gle.corresponding to the Ia_réest side as base is ?
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Rs. 2500. At the end of year Shivam received Rs. 2750 profit out of Rs. 6050. After how much
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After selling a suit for Rs. 1680 a shopkeeper suffers a loss of 16%. If he wants to earn 15% profit
after giving the dlscount of 8%, what will be the marked price?
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1| 1)Rs. 2500
| 2)Rs. 2000
3)Rs. 1500
4)Rs. 2600




One year ago the ratio of income of A & B are in the ratio 3:5. The ratio of their last year to
current year income is 2:3 and 4:5. If their total current income is 86000rs then find the present

income of A?
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1)36000
2)50000
3)18000
4)NOT




A can do a piece of work in 18 days, B can do it in 24 days and C can do it in 60 days. EfflClency
of D is twice the efficiency of C. If A worked for 2 days, B worked for 4 days and C worked for 6
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Anamika can do a piece of work in 30 days an Anjali can do the same work in 40 days. Anjali
starts the work alone and works for 15 days and left the work. After that remaining work

completed by Anamika and Arun together in 7 1/2 days. In how many days can Arun do the
whole work alone?
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A train 150 m long passes a pole in 15 seconds and crosses another train of the same length
travellmg in op05|te direction in 8 seconds. The speed of the second train in (km/h) i s ?
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1)60 km/hr
2)66 km/hr
3)72 km/hr
4)99 km/hr




An article costs Rs. 500 and the marked price is mentioned as Rs. 800. What is the profit % for
the seIIer if he sells and offers a discount of 10% on_the marked price?
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